Construction of Main Approach Road from Tunnel T14 P1 to Full Title of the Project:

Tunnel T14 Adit (USBRL Project)

File No:

FP/JK/ROAD/144002/2021

Date of Proposal:

29-06-2021

Project report for extraction of 76 Chir Green standing trees coming under main approach road from T14P2(IND) RD 0.00 km to adit @ of 74/.36 RD 3100.00 Muck dumping yards (2 nos), land above adit and portal of adit of T14 of compartment No- 71/Ar of Range-Gool

S.No	Item of Work	Quantity	Rate in Rs	Units	Amount in Rs	
1	Felling/Cross cutting of trees into logs.	7932	3.82	per cft	30300	
2	Conversion of logs into scants of required size	3966	57.84	per cft	229393	
3	H/load carriage of sawn timber from extraction site upto PLP lead 70 chains.	70	0.62	per chain	172124	
4	Stacking of sawn Timber at PLP	3966	0.88	per cft	3490	
5	Loading of sawn Timber at PLP	3966	1.65	per cft	6544	
6	Mechanical transportation charges of sawn Timber from PLP Ind to TSD Depot Kowbagh Ramban and returned Lead 120 Km.	120	0.2	per cft/km	95184	
7	Un-loading of Timber at TSD	3966	1.65	per cft	6544	
8	Watch and Ward of Timber for 6 month 2 labours for day time and 2 labours during night hours.	24	6750	per month	162000	
9	Insurance of 6 labours for 6 months.	6	5000	per month	30000	
	Total				735580	

Range Officer Rangod orest Officer Forest Range Gool

Block Forest Officer

yBlock Deddha

Head of the User किया होजी. / नि. / रियासी Agency

Dy. Chief Engineer/Const./Reasi यू.एस.बी.आर.एल.परि./ छ.रे./जम्मू U.S.B.R.L. Project/N.R./Jammu

45

Divisional Forest Of Div Ramban Forest Studiticer Ramban Rambay Division

Jahongri Marmed (Fgel)
Beet Bishows

Project report for extraction of 122 Chir Green standing trees coming under main approach road from T14P2(IND) RD 0.00 km to adit @ of 74/.36 RD 3100.00 Muck dumping yards (2 nos), land above adit and portal of adit of T14 of compartment No- 72/Ar of Range-Gool

S.No	Item of Work	Quantity	Rate in Rs	Units	Amount in
1	Felling/Cross cutting of trees into logs.	12700	3.82	per cft	48514
2	Conversion of logs into scants of required size	6350	57.84	per cft	367284
3	H/load carriage of sawn timber from extraction site upto PLP lead 90 chains.	90	0.62	per cft per chain	354330
4	Stacking of sawn Timber at PLP	6350	0.88	per cft	5588
5	Loading of sawn Timber at PLP.	6350	1.65	per cft	10478
6	Mechanical transportation charges of sawn Timber from PLP Ind to TSD Depot Kowbagh Ramban and returned Lead 120 Km.	120	0.2	per cft/km	152400
7	Un-loading of Timber at TSD.	6350	1.65	per cft	10478
8	Watch and Ward of Timber for 6 month 2 labours for day time and 2 labours during night hours.	24	6750	per month	162000
9	Insurance of 6 labours for 6 months.	6	5000	per month	30000
	Total				114107

Range Officer Range Goolest Officer Forest Range

Gool

Head of the User Agency

उप मुख्य इंजी./नि./रियासी Dy. Chief Engineer/Const./Reasi यू.एस.बी.आर.एल.परि./ उ.रे./जम्मू U.S.B.R.L. Project/N.R./Jammu

Divisional Forest Officer Ramban Forest/Division

Jehagi Whol feel Block Forest Officer
Beat Bishads Block Deddha

Project report for extraction of 137 Chir Green standing trees coming under main approach road from T14P2(IND) RD 0.00 km to adit @ of 74/.36 RD 3100.00 Muck dumping yards (2 nos), land above adit and portal of adit of T14 of compartment No-73/Ar of Range-Gool

S.No	Item of Work	Quantity	Rate in Rs	Units	Amount in Rs	
1	Felling/Cross cutting of trees into logs.	15555	3.82	per cft	59420	
2	Conversion of logs into scants of required size	7777.5	57.84	per cft	449851	
3	H/load carriage of sawn timber from extraction site upto PLP lead chains.	120	0.62	per cft per chain	578646	
4	Stacking of sawn Timber at PLP	7777.5	0.88	per cft	6844	
5	Loading of sawn Timber at PLP.	7777.5	1.65	per cft	12833	
6	Mechanical transportation charges of sawn Timber from PLP Ind to TSD Depot Kowbagh Ramban and returned Lead 120 Km.	120	0.2	per cft/km	186660	
7	Un-loading of Timber at TSD.	7777.5	1.65	per cft	12833	
8	Watch and Ward of Timber for 6 month 2 labours for day time and 2 labours during night hours.	24	6750	per month	162000	
9	Insurance of 6 labours for 6 months.	6	5000	per month	30000	
	Total				1499087	

Head of the User Agency

उप मुख्य इंजी./नि./रियासी Dy. Chief Engineer/Const./Reasi यू.एस.बी.आर.एल.परि./ उ.रे./ जम्मू U.S.B.R.L. Project/N.R./Jammu

Divisional Forest Office

Ramban Forest Division Officer

Ramban prest Division

Jelagir Met Figel Block Forest Officer
Best Bishards Block Deddha

25

Project report for extraction of 52 Chir Green standing trees coming under Muck dumping yards (2 nos), land above adit and portal of adit of T14 of compartment No- 72/Ar of Range-Gool

S.No	Item of Work	Quantity	Rate in Rs	Units	Amount in Rs
1	Felling/Cross cutting of trees into logs.	2855	3.82	per cft	10906
2	Conversion of logs into scants of required size	1427.5	57.84	per cft	82567
3	H/load carriage of sawn timber from extraction site upto PLP lead 120 chains.	120	0.62	per cft per chain	106206
4	Stacking of sawn Timber at PLP	1427.5	0.88	per cft	1256
5	Loading of sawn Timber at PLP.	1427.5	1.65	per cft	2355
6	Mechanical transportation charges of sawn Timber from PLP Ind to TSD Depot Kowbagh Ramban and returned Lead 80 Km.	80	0.2	per cft/km	22840
7	Un-loading of Timber at TSD.	1427.5	1.65	per cft	2355
8	Watch and Ward of Timber for 6 month 2 labours for day time and 2 labours during night hours.	24	6750	per month	162000
9	Insurance of 6 labours for 6 months.	6	5000	per month	30000
	Total				420486

the User Agency

उप मुख्य इंजी./नि./रियासी Dy. Chief Engineer/Const./Reasi यू.एस.बी.आर.एल.परि:/ उ.रे./ जम्मू U.S.B.R.L. Project/N.R./Jammu Range Officer
Range Gool
Forest Range

Gool

Divisional Forest Officer
Divisional Forest Officer
Ramban Forest Division
Ramban Forest Division
Ramban
Ramban

Ab. Bashir Block Forest Officer YBlock Deddha

26

Jehough whed (Fgd)
Rest Bishads